Q1. Choose the correct alternative from the alternatives given below. 04

1. passes through the middle of India.

A) Tropic of Capricorn B) Equator C) Tropic of Cancer D) Pole
2. Mt. K2 islocatedin _____ range of mountain.
A) Siwalik B) Karakoram C) Ladakh D) Zaskar
3. Convectional type of rainfall is high in region.
A) Tropical B) Cold C) Temperate D) None of above
4. The trade between Maharashtra and Gujarat is known as trade.

A) International B) Internal C) Retail D) Wholesale

Q2. State whether Right or Wrong. 04
1. Less pollution is found in rural region than urban region. ( )
2. Ro-Ro transportation not required Airways. ( )
3. The length of all longitudes is same. ( )
4. The rainfall is high in rain shadow region. ( )
Q3. Give geographical reasons. 06

1. Traffic jam is found in urban areas.

Ans:

2. Convectional rainfall is found in equatorial region.

Ans:




Q4 Show the following in the world map.
1. Tropic of Cancer. 2. Tropic of Capricorn. 3. Equator
5. South America 6. Africa.
Q5. Write answers in detail. ( Any one )
1. Prepare a questionnaire for a field visit to a river bank.
OR

Write problems of urbanisation.

4. Asia
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